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QUESTION 1

You are in the process of planning a deployment in which a single WebLogic cluster will host a web application. There
are several options to consider.

Which is not a valid decision?

A. Proxy plug-in or hardware load balancer
B. Configured or dynamic cluster

C. Replicated or persistent HTTP sessions
D. Unicast or multicast communication

E. Single or multiple domains

Correct Answer: A

QUESTION 2

Which statement is true about stopping Node Manager?

A. If you stop Node Manager, the managed servers it started will also stop.

B. You may kill the Node Manager process by using operating system commands.

C. Using the stopNodeManager.sh script so Node Manager stops gradually.

D. Using the administration console, select the appropriate machine and click stop.

E. The administration server goes into ADMIN mode if it can no longer Communicate with Node Manager.

F. The managed servers that Nod Manager started go into ADMIN mode if they can no longer communicate with Node
Manager.

Correct Answer: B

QUESTION 3

Which three statements are true about the default behavior of WebLogic server proxy plug-ins?
A. The proxy will pin a client to a specific server if a session cookie is created.

B. The proxy fails over to another server if a connection or request times out.

C. The proxy distributes requests to cluster members based on their CPU usage.

D. The proxy dynamically learns the latest locations of cluster members.
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E. The proxy always uses SSL, regardless of the client\\'s protocol.
F. The proxy replicates session data to its backup proxy.

Correct Answer: ABD

QUESTION 4

You zipped up the domain\\'s config directory on the administration server\\'s machine before making some major
configuration changes. You wait to activate after all the changes have been saved. After your changes are in, hinges
start failing badly. You want to go back to the old configuration.

What is the best course of action?

A. Undo the changes you made manually by using the administration console or WLST.
B. 1. Stop the administration server.

2.

Replace the config directory on the administration server\\'s machine with your backup.
3.

Restart the administration server.

4,

Stop the managed servers on each machine.

5.

Replace the config directory on the machine with your backup.

6.

Restart the managed servers on the machine.

C. 1. Stop the administration server.

2.

Extract only the config.xm1 file from the zip file.

3.

Overwrite config.xm1 on the administration server\\'s machine with this extracted file.

4,

Restart the administration server.

D. 1. Stop the administration server.

2.
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Replace the config directory on the administration server\\'s machine with your backup.
3.
Restart the administration server.

Correct Answer: D

QUESTION 5

When creating a dynamic cluster, you have multiple options concerning how dynamic servers are distributed across
machines in your domain. Identify three supported configurations. (Choose three.)

A. Use all machines in the domain

B. Use machines whose names match an expression
C. Use a percentage of machines in the domain

D. Use all machines in a subnet

E. Use a single machine

Correct Answer: BDE

Reference: https://docs.oracle.com/middleware/12213/wls/TASKS/clusters.htm#TASKS257
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